20204 M X B A ¥ B B E o & (H B (5 /ml)
H

X4y 4 H 5 6 H 7 A
<14 —3.4 —54 —10.4—20.4205< <3.4 =104 <1.4 —3.4 —5.4 —10.4—20.420.5= <34 <104 =<1.4 —3.4 —5.4 —10.4—20.420.5= =<3.4 =<10.4/=<1.4 —3.4 —5.4 —10.4—20.4 20.5= <3.4 =10.4
Hi X (B %) (% &) (B %) (&)
% % % % % % % % % % % % % % % % % % % % % % % %l % % % % % % % %
payss 100.0 100.0 100.0 |95.5 4.5 100.0 100.0 | 98.0 2.0 100.0 100.0 | 96.7 3.3 100.0 100.0
755 100.0 100.0 100.0 {95.9 2.1 1.9 98.1 100.0 94.0 3.9 2.0 98.0 98.0/93.2 1.9 4.9 95.1 100.0
EJI 98.8 1.2 100.0 100.0 |98.4 1.6 100.0 100.0 {98.3 1.7 100.0 100.0 |96.2 2.8 0.4 0.7 98.9 100.0
%k 100.0 100.0 100.0 98.8 1.2 100.0 100.0 1100.0 100.0 100.0 100.0 100.0 100.0
AN 97.1 2.9 100.0 100.0 94.2 5.4 0.4 99.6 100.0 100.0 0.0 100.0 100.0 1100.0 100.0 100.0
T 99.5 0.5 100.0 100.0 |97.7 2.3 0.0 0.0 100.0 100.0 | 98.0 2.0 0.0 100.0 100.0 198.9 1.1 100.0 100.0
Jiliki = 100.0 100.0 100.0 |95.6 3.0 1.5 98.5 100.0 196.8 3.2 100.0 100.0 [ 99.5 0.5 100.0 100.0
H & 100.0 100.0 100.0 194.7 4.3 1.0 99.0 100.0 |100.0 100.0 100.0 100.0 100.0 100.0
% 98.4 1.5 0.1 99.9 100.0 198.0 1.5 0.3 0.2 99.5 100.0 198.0 1.6 0.1 0.1 0.2 99.6 99.8 97.5 2.3 0.1 99.9 100.0
Re ]S 97.4 19 0.1 0.1 0.3 99.4 99.7 1976 1.9 0.3 0.1 0.0 0.1 99.5 99.9 98.9 1.0 0.0 0.1 99.9 99.9 98,5 1.1 0.3 99.7 100.0
R 98.5 1.4 0.1 99.9 100.0 198.1 1.6 0.2 0.1 0.1 99.7 99.9 97.7 1.7 0.1 0.4 0.1 99.4 999|975 18 0.3 04 0.1 99.3 99.9
WaE 97.2 2.6 0.1 99.9 99.9196.3 3.3 0.4 0.0 99.6 100.0 1 97.5 1.8 0.5 0.2 99.3 99.8/98.2 1.6 0.1 0.1 0.1 99.8 99.9
N 98.7 1.3 100.0 100.0 [ 99.2 0.8 100.0 100.0 | 99.5 0.2 0.3 99.7 100.0 199.5 0.2 0.2 99.8 100.0
A Bh 100.0 100.0 100.0 194.1 3.8 1.4 0.7 97.9 100.0 98.8 1.2 100.0 100.0 | 95.8 4.2 100.0 100.0
oy 98.3 1.6 0.1 0.0 0.0 0.0 99.88 99.9 976 2.0 0.2 0.2 0.0 0.0 99.6 100.0 98.1 1.5 0.2 0.1 0.1 99.6 99.9 1979 1.8 0.2 0.1 0.0 99.6 100.0
20194 %4 98.5 1.2 0.2 0.1 0.0 99.7 100.0 198.2 1.5 0.0 0.2 0.0 99.7 100.0 198.1 1.5 0.1 0.1 0.1 0.0 99.7 99.9 979 1.7 0.2 0.2 0.0 0.0 99.5 100.0
20184EEEA99.0 0.8 0.1 0.1 99.8 100.0 198.7 1.0 0.1 0.1 0.0 99.8 100.0 198.5 1.1 0.1 0.2 0.0 0.0 99.6 99.9 976 1.9 0.2 0.3 99.5 100.0
X4y 8 A 9 A 10 A 11 A
<14 —3.4 —5.4 —10.4—20.4205==3.4 =104 =<1.4 —3.4 —5.4 —10.4—20.420.5=< =34 =104 =1.4 —3.4 —5.4 —10.4—20.420.5= =<3.4 =10.4/=<1.4 —3.4 —5.4 —10.4—20.4 20.5= 3.4 =10.4
Hu[xX (s %) (% %) (% %) (% &)
% % % % % % % % % % % % % % % % % % % % % % % % % % % % % % % %
HKF 96.4 3.6 100.0 100.0 |96.3 2.1 1.6 98.4 100.0 98.4 1.6 100.0 100.0 97.7 2.3 100.0 100.0
7250 96.6 3.4 100.0 100.0 | 96.6 1.7 1.7 96.6 100.0 96.3 3.7 100.0 100.0 196.4 1.9 1.7 98.3 100.0
B 96.2 3.0 0.4 04 99.2 100.0 97.6 2.4 100.0 100.0 198.9 0.8 0.3 99.7 100.0 97.6 2.4 100.0 100.0
ik 100.0 100.0 100.0 100.0 100.0 100.0 1100.0 100.0 100.0 100.0 100.0 100.0
Fer il 99.9 0.1 100.0 100.0 100.0 100.0 100.0 97.6 2.4 100.0 100.0 1 99.9 0.1 100.0 100.0
T 5 97.7 1.1 1.2 98.8 100.0 [100.0 100.0 100.0 98.8 1.2 100.0 100.0 | 100.0 100.0 100.0
JiIZR7S 925 7.5 100.0 100.0 100.0 100.0 100.0 1100.0 100.0 100.0 100.0 100.0 100.0
H& 100.0 100.0 100.0 95.5 0.6 1.3 2.5 96.2 100.0 |100.0 100.0 100.0 1100.0 100.0 100.0
+ 98.1 1.8 0.1 0.0 99.9 100.0 197.8 1.8 0.3 0.0 99.6 100.0 99.2 0.7 0.1 0.0 99.8 100.0 199.1 0.8 0.0 0.1 0.1 99.8 99.9
Bl 98.6 0.9 0.3 03 0.0 99.4 100.0 197.8 2.1 0.1 0.0 99.9 100.0 98.0 1.8 0.1 0.1 99.8 100.0 198.7 1.1 0.1 99.9 99.9
R 97.7 2.2 0.1 0.1 99.9 100.0 197.3 2.0 0.5 0.3 99.3 100.0 979 1.7 0.1 0.3 0.1 99.6 99.9 98.8 1.0 0.1 0.0 99.9 100.0
A 96.8 2.5 0.5 0.2 99.3 100.0 196.5 2.7 0.5 0.3 99.2 100.0 1 98.1 1.5 0.2 0.2 99.6 100.0 198.0 1.8 0.2 99.8 100.0
S 96.9 2.5 0.3 0.3 99.5 100.0 198.7 0.8 0.3 0.2 99.5 100.0 198.9 1.1 100.0 100.0 198.7 1.0 0.3 99.7 100.0
A 96.5 2.8 0.6 0.0 99.4 100.0 1 97.1 2.9 100.0 100.0 1 97.0 3.0 100.0 100.0 1 96.8 3.2 100.0 100.0
B 97.7 2.0 0.2 0.1 0.0 99.7 100.0 |197.6 1.9 0.3 0.2 0.0 99.5 100.0 198.5 1.3 0.1 0.1 0.0 99.8 100.0 198.7 1.2 0.0 0.1 0.0 99.8 100.0
20194 %4 975 2.1 0.2 0.2 0.0 99.5 100.0 197.8 1.7 0.3 0.2 99.5 100.0 98.3 1.3 0.2 0.2 0.0 99.6 100.0 198.8 1.0 0.1 0.1 0.0 99.7 100.0
20184FEE4 98.0 1.6 0.2 0.2 0.0 0.0 99.5 100.0 98.0 1.5 0.2 0.2 0.1 99.5 99.9 98.6 1.1 0.1 0.1 0.1 99.7 99.9 198.7 1.1 0.1 0.1 0.0 99.8 100.0




- Ny —4— Iz Mz
20204F X B & ¥ E Bk OB By A RO (AR (5 /m1)
X4y 12 A 1 A 2 A 3 A
=14 —3.4 —5.4 —10.4—20.4205==34 =10.4/=1.4 —3.4 —54 —10.4—20.4 20.5= <34 =104 =1.4 —3.4 —5.4 —10.4—20.420.5= =34 =10.4/=1.4 —3.4 —5.4 —10.4 —20.4 20.5= <3.4 =10.4
Hi X (% %) (% %) (% %) (% %)
% % % % % % %N % % %N % % % % % % % % % % % % % % % % % % %N % %N %
payss 98.5 1.5 100.0 100.0 |100.0 100.0 100.0 |98.4 1.6 100.0 100.0 |100.0 100.0 100.0
725 88.1 9.9 2.0 98.0 100.0 89.7 10.3 100.0 100.0 |95.5 2.3 2.3 97.7 100.0 1 95.4 4.6 100.0 100.0
i 98.8 1.2 100.0 100.0 |99.1 0.9 100.0 100.0 |98.1 1.6 0.3 99.7 100.0 97.4 2.6 0.0 0.0 100.0 100.0
®“E& 99.9 0.1 100.0 100.0 199.9 0.1 100.0 100.0 1 96.9 3.1 100.0 100.0 | 95.7 2.1 2.2 95.7 100.0
f@ll_l 99.8 0.1 0.1 99.9 100.0 |100.0 100.0 100.0 [100.0 100.0 100.0 [100.0 100.0 100.0
Nig= 97.8 2.2 100.0 100.0 |100.0 100.0 100.0 |96.0 4.0 100.0 100.0 |100.0 100.0 100.0
JilER7 98.4 1.6 100.0 100.0 |96.5 3.5 100.0 100.0 |96.9 3.1 100.0 100.0 |95.1 3.2 1.6 0.0 98.4 100.0
HE 98.5 1.5 100.0 100.0 |98.4 1.6 100.0 100.0 |98.4 1.6 100.0 100.0 |98.5 1.5 100.0 100.0
+B% 98.4 1.3 0.2 0.0 99.7 100.0 198.0 1.7 0.4 99.6 100.0 96.9 2.8 0.2 0.1 99.7 100.0 '197.2 2.1 0.3 0.2 0.2 99.3 99.8
Fil[FS 97.9 2.1 100.0 100.0 |98.1 1.5 0.3 0.2 99.5 100.0 98.4 1.4 0.2 99.8 100.0 1 97.0 2.2 0.3 0.5 99.3 100.0
R 986 1.2 0.1 0.1 99.8 100.0 '198.3 1.3 0.1 0.2 0.1 99.6 99.9 97.9 1.7 0.1 0.2 0.1 99.6 99.9 98.7 1.0 0.2 0.1 99.7 100.0
W 983 1.2 03 0.1 0.1 99.4 99.9 975 2.0 0.3 0.1 99.5 100.0 97.3 2.3 0.1 0.3 99.6 100.0 197.3 1.9 0.2 0.6 99.2 100.0
BN 98.6 1.1 0.3 99.7 100.0 98.4 1.0 0.5 99.5 100.0 99.3 0.5 0.2 99.8 100.0 99.5 0.5 100.0 100.0
L] 96.8 2.5 0.7 99.3 100.0 95.4 3.8 0.8 99.2 100.0 97.6 1.6 0.8 99.2 100.0 96.2 3.8 100.0 100.0
SE¥y 1983 14 02 0.1 0.0 99.7 100.0 98.0 1.6 0.3 0.1 0.0 99.6 100.0 '[97.6 2.0 0.2 0.1 0.0 99.7 100.0 '197.7 1.8 0.2 0.3 0.1 99.5 99.9
20194945 98.6 1.3 0.1 0.1 0.0 99.9 100.0 /1985 1.3 0.1 0.1 0.0 0.0 99.8 99.9/98.0 1.6 0.2 0.1 0.1 99.6 99.9 98.4 1.3 0.1 0.1 0.0 0.0 99.7 100.0
20184EEH4 98.7 1.0 0.2 0.0 0.0 99.7 100.0 /198.2 1.5 0.1 0.1 0.0 0.0 99.7 99.9 986 1.2 0.1 0.0 0.0 99.8 100.0 98.8 1.0 0.1 0.1 99.8 100.0
X5 ¥y (4H~3H)
<14 —3.4 —5.4 —10.4—20.4205=< <3.4 =10.4
Hh X (% %)
% % % % % % % %
AFF 98.0 1.9 0.1 99.9 100.0
Z250 949 36 1.1 03 0.2 98.5 99.8
i 97.9 19 0.1 0.1 0.0 99.8 100.0
% 99.2 04 0.2 0.2 99.6 100.0
Fer il 99.0 1.0 0.0 0.0 100.0 100.0
T 5 98.7 1.2 0.1 0.0 99.9 100.0
JiIZR7S 97.6 2.2 0.3 0.0 99.7 100.0
H& 98.7 09 02 0.2 99.6 100.0
+ 5 98.1 1.6 0.2 0.1 0.0 0.0 99.7 100.0
Bl 98.1 1.6 02 0.1 0.0 0.0 99.7 99.9
IR 98.1 1.6 02 02 0.0 99.6 100.0
HaE 97.4 2.1 0.2 0.2 0.0 0.0 99.5 100.0
TR 98.8 09 0.2 0.1 99.8 100.0
] 96.8 2.7 0.4 0.1 99.6 100.0
Sty 198.0 1.7 0.2 0.1 0.0 0.0 99.7 100.0
20194 98.2 1.5 0.2 0.1 0.0 0.0 99.7 100.0
2018MFEEEM 98.4 1.2 0.1 0.1 0.0 0.0 99.7 100.0






